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(D) BB y=V1—x+lg(a+D HE LI E
(2) BHEE f(e— D =2"—62+5, M KL f(x)=

(3) Wy =" R BB

(4) PR%K f@)zlz‘—il% R, (257 E ™)

(5) B asbsc BRAET 1 BIEE H. log.x=2,log,xr =3,logx =6, log,x=
(6) #5 x>y, H 0<<a<<1.M a* o (B“>7af“<"sf“=")
(D TIN5 R
D2.2% 213, @301 3L
@ log.3  logs2; ®log10.1  logl3.
(8) (0., (1. D™, logy.o 1. 1 FK/NEF R
O 25 lgCay)=m,lgx=1,M] lg y=
(10) R y=logl (x— 1) Ay ERIHIR /D IX ] 2
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(1) TFH0454H R b R ] — pR B 2 ).
A. f<x>:§$ng<x>:x B. f()=x Ml g(x)= /27
C. f(o=|z|F1g(x)=V2" D. f(x)=lgz* il g(x)=2lg x
(2) #HPREL y=f () MG T I XHR  DU)g i e 56 2R X ( ).
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C. log, |xy|=log, | x| * log, | y| D. log,3>log,?2
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